N = 0l & At & Ml A

2018 = =0lah =EHS SE3H S

SN MEFSZ D

HE: 2REE 2L
ol BT ZOINR (LB SHEA) (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
AHEH B 1t 70,474 71,047 ABT73
J| 70,474
=& EF 2L 70,474 71,047 A573
J| 70,474
B F0XA(EMNSE SE3H) 70,474 71,047 A573
J| 70,474
B IAA FOIHOAAL FA - 22 11,239 27,997 A 16,758
J| 11,239
201 Let24d] 10,200 26,772 AN 16,572
J| 10,200
01 At 22l 2,000 2,000 0
OFU=SXZ - SHUSEHNYE SE(ARES L
27 )7 2,000,000& 2,000
J| 2,000
02 23=2gl 8,200 24,772 216,572
OSUSEHIHE - FUEX2 HIIs & 2H
NS == 350,000& x12& 4,200
J| 4,200
OFLU=SKH - EMUsEHHE S =, =d
2,000,000& 23] 4,000
J| 4,000
202 oddl 1,039 1,225 A 186
J| 1,039
01 S LHOYI 1,039 1,225 A 186
OFCXJAAMY JIZ=ZA & HEHEH
1,039,000& 1,039
J| 1,039
=AY =AU ALY 59,235 43,050 16,185
J| 59,235
101 @124 dl 13,861 7,630 6,231
J| 13,861
4 D122 E2EXRESES 13,861 7,630 6,231
o4tsr 52 AN 6,231
oJlzs 53,580 x7H x 14 5,251
J| 5,251
On st 5,000& x7H x 14 490
J| 490
o=t 5,000 x7H x14& 490
J| 490
OHEIHA B2 AN 7,630
OJdles 53,5803 x6H x20! 6,430
J| 6,430
Oun st 5,000& x6H 20 600
J| 600
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